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B 4 =8 &t B 4 2 & &t
AEZEHT 0 0 0 | = RiHT 7 5 12
KIZRHET 146 158 304 |HKHET 7 8 15
3 SHET 3 0 3 |/EHT 2 5 7
=AHT 151 178 329 |FLILHET 6 12 18
=&idtE 59 89 148 |1 EHT 2 2 4
SE AT 2 3 5 |#a[RHET 1 8 9
= [ ET 46 65 111 |EHT 18 23 4
FFFHET 0 2 2 |SRHT 13 26 39
KA HT 1 27 38 |tA[RHT 0 0 0
SEEHT 8 11 19 |1 &HT 216 217 433
i AHT 0 0 0 |7iBHT 0 1 1
4./ $ERET 9 10 19 |FAAHET 28 56 84
FTARHT 6 7 13 |E BT 85 81 166
HrHHZET 1 1 2 |EHT 0 0 0
S ERHET 1 8 9 —fHT 0 2 2
YiE A BT 2 3 5 & HT 37 37 74
Hr HHET 0 0 0 2 /RHET 107 184 291
AN 4 32 36 |7 ;iHT 12 30 42
R AAHET 18 25 43
AHT 5 6 1
b AHT 0 1 1
FR LA HT 2 6 8
JUHET 7 5 12
E AT 4 6 10
fHsEHT 11 15 26| & 3 1,037 1,355 2,392




